
 

 

WORD PROBLEM ON SUBTRACTION 

 

1. A box contains apples and oranges. The total 

number of fruits is 365. If 126 of them are apples, then 

how many oranges does the box have? 

SOLUTION...         H  T  O 

  Total no. of fruits =   3  6  5 

  No.of apples  =- 1  2  6 

  No. of oranges  =   2  3  9 

Ans = The box have 239 oranges. 

 

2. There are 534 cars in a parking lot. 249 drive away. 

How many cars are left in a parking lot? 

SIOLUTION...           H  T  O 

  Total no. of cars  =    5  3  4 

  No. of cars drive away = - 2  4  9 

  No. of cars left   =    2  8  5 

Ans = 285 cars are left in a parking lot. 


